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GKBEI BB RS (ZE-ZFEF—H)

34 2 5 PR 7S RS 198 FaRE
GB/IE)

M i 1 6-10 6.8 -9.6 8.4 =
HAEE (mg) 100 <20-26 20.6 =
BRI E (mg/) 10 <1-56 3.5 =
MY 488 (mg/l) 2000 186 - 650 394 =
WM& E (mg/l) 10 <0.5-2.1 0.70 =
FALYEEE (mg)) 0.1 <0.040 <0.040 =
BOFEAGHEE (me/) 100 <15-33 19.4 =
HHE (mg/) 20 <10 <10 =
MaEE (mg) 0.5 <0.3 <0.3 =
R ARHEE (mg) 1 <0.6 <0.6 =
FHE EMER (mg/) 15 31-44 3.5 =
EEFARE (mg) 2500 280 - 821 476 =
Bk E (mg) 200 49 - 180 108.5 =
(0 43 26 - 28 217 =
W TEYE RIEFER | B DL |BEHE LT =
EEEE

it (mg/l) 2 <0.4 <0.4 =
# (mgfD) 5 <1 <1 v
i@ (mg/l) 0.1 <0.1 <0.1 =
#% (mg/l) 1 <0.3 <0.3 =
#i  (mg/l) 2 <0.5-0.57 0.51 =
$t  (mg/) 2 <1 <1 =
i (mgfl) 5 <0.2 <0.2 v
7K (mg/l) 0.05 <0.05 <0.05 =
$8  (mg/D) 2 <1 <1 =
B (mg/l) 2 <0.4 <0.4 =
#% (mg/l) 5 <1 <1 =
¥ (mg/l) 2 <1 <1 pss
BEHEBHEEHS (mg) 10 <7.0-70 7.0 =




28 2 il PR & SES 15 8 FaRE
GB/IE)
B (mg/l) 5 <l1-15 1.1 =
# (mg/D) 10 ) <2 pss
BB
Aldrin (mg/l) 0.01 <0.01 <0.01 =
BHCS (mg/l) 0.01 <0.01 <0.01 =
KELZPE (mgl) 0.01 <0.01 <0.01 =
FHEEEEEY
HKEE (mg/) 0.1 <0.06 <0.06 =
EE&EiEey -
1,1,1- = & Z HE (mg/) 0.05 <0.025 <0.025 P
Z & PR
% S R 48 & (mg/l) 0.003 <0.003 <0.003 =
BHEYE -
B EEIE & (pc/l) 10000 <10000 <10000 =
#%-226 (pc/l) 30 <30 <30 =
#2-90 (pc/l) 100 <100 <100 =
t HEcBEECE M- 1 8 8% 8 85 8 g~ R -

P B
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28 22 i B & R SEHg 8 FERE
(/&)

() =f+oeEpsE @
iR (mg/m’) 30 0.0 - 0.2 0.0 =
—&1bW  (mg/m’) 200 0.0 - 64.7 3.7 =
BilE (mg/m’) 60 0.0 - 13.4 2.8 =
#FALE (mg/m’) 4 0.0 - 0.1 0.0 =
HEAEY
(Bl = & 1k & 5 &) 400 50.4 - 1989 98.7 T
(mg/m’)
MR (me/m) 20 0.0 - 4.9 0.1 =
— &b B% (mg/m”) 100 0.0 - 98.0 3.3 =
(Z) Higml @
Mok (mg/m’) 10 0.0 - 0.1 0.0 =
— &b/ (mg/m’) 50 1.6 - 10.6 3.7 =
BilE (mg/m’) 10 02 - 54 2.9 =
#FALE (mg/m’) 1 0.01 - 0.07 0.03 =
HEAEY
(Bl = & 1k & 5 &) 200 59.2 - 97.5 79.0 T
(mg/m’)
MR (me/m) 10 0.00 - 0.32 0.10 =
— &b i% (mg/m”) 50 1.5 - 94 33 =
(W) Hfth
ANMEAEEY
(LE AR & EETE) 24 <5.0 <5.0 yoea
(mg/m’)
BEBILEY
(LA tadE &2l &) 18.8 <0.7 <0.7 =
(mg/m’)
% (DL iR B &5 &) o
(me/m’) 37.5 <1.9 <1.9 &
BE4EE (DI (mg/m) 55 <0.19 <0.19 =
HECEAEE (mg/m’) 5 <1.8 <1.8 =




34 2 il PR & SES 5 8 FERE
(B/E)

EHESBE -8

gfnj ﬁ)(% —RH 0.05 <0.010 <0.010 i
EHESBE=ZH Y

fif (mg/m’) 0.06 <0.002 <0.002 =

gfnj H;E;)(% — R 0.5 <0.071 <0.071 yocs

K (mg/m’) 0.05 <0.002 <0.002 =

TEESE (ng/m) 0.075 0.0078 0.0078 =

=+

(1) FEFREEAGNNEAN =T o#FFEEE VPR E -

Q) FEPFRERE AN AN H S EE -
Q) FHEEBEE —BOEE * % -
Q) FEEBGE ZBOER - 85 B 8 88

it B~ 8

(5) # B 45 EHT L 273K ~ 101.3 kPa ~ 52 4 82 12 1) Hf 4 B 8 1 31 5 2
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ERRER ZERBYBERSE (ZZ—2F1—H)

28 22 il B & R SEg 8 FERE
(/&)
£—E 5y
B R 12 (K ) S(H;@KE 122-12.7 125 =
)
BB S (%) | (a;ﬁlﬁ' 45-93 68.2 2
)
ERLBE
#% (ppm) 0.5 <0.5 <0.5 =
7% (ppm) 0.1 <0.02 - 0.059 0.02 =
Y E (ppm) 10 <0.5 <0.5 =
#i  (ppm) <0.5-4.2 1.0
#%  (ppm) <0.5 <0.5
#7 (ppm) <1.0-15.0 2.3
¥ (ppm) <0.5-39 0.9
8- 88 8 AT B
W8 (ppm) 25 <25-17 4.6 T
# (ppm) 20 <1 <1 =
ALY (ppm) 10 <5 <5 =
ZHEE (ppm) 10 <2-62 2.3 =
ALY (ppm) 5 <5 <5 yea
£ E Ay
= % 4 PN
& M RS 5000 <15 <15 =
= (ppm)
B HEHZEHEBE
1 =
(ppm) 0 <5 <5 =
RKAE X Iy 42 =
2 2 2 T
(ppm) < < =
% &K (ppm) 1 <l <l =
TCDD (ITEF %) 1 <1 <1 =

(ppb)
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